Geometry  Chapter 4 Review |ANSWERS| Fall 2013

1. Yes, AAQC = AGWC by either ASAor AAS 2. Yes, AMKG = AMKR by HL

3. Yes, AKNB = APBN by ASA 4. Yes, ARKC = ALKT by SAS
5. Yes, ADEQ = AQYD by SSS 6. Yes, AGUM = AHUM by SAS
7
Statement Reason
1. DB bisects /. ABC and 4B = CB | 1. Given
2. /. ABD = / CBD 2. Def of Angle Bisector
3. BD = BD 3. Reflexive Property
4. AABD = ACBD 4. SAS
8. x=239 9. x=54 10. m/L1 =70°m/.2 =20°m/.3 =90°,m/ 4 =20°
1.
Statement Reason
1. TC bisects L MCW and LW = /M| 1. Given
2. CTeCT 2. Reflexive Property
3. LMCT = [ WCT 3. Def of Angle Bisector
4. AMCT = AWCT 4. AAS
| 5. MT =WT 5. CPCTC
e 2
Statement Reason
1. A is the midpt of GE, QE&VG are 1 to GE, and VA = 04 | 1. Given
2. GA=FA ' 2. Def of Midpoint
3. AAGV = AMEQ 3. HL
4. L Q=LY 4. CPCTC




